NANYANG PRIMARY SCHOOL
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MATHEMATICS
PAPER 1
(BOOKLET A)

Total Duration for Booklets A and B: 1 hour
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INSTRUCTIONS TO PUPILS

Do not turn over this page until you are told to do so.

Follow all instructions carefully.

Answer all questions.

Shade your answers in the Optical Answer Sheet (OAS) provided.
The use of calculators is NOT allowed.
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Name: ( )

Class: Primary 6 ( )




Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and shade your answer on the Optical Answer
Sheet, (20 marks)

1 Round 153 498 to the nearest thousand.

(1) 150000
(2) 153000
(3) 154000
(4) 160000

2 In 20.176, which digit is in the tenths place?

1
@ 2
(3) 6

@ 7



The figure below shows a number line.  Which of the following is closest
to the reading of B?

6.2 6.4
(1) 622
(2) 623
(3) 625

(4y 6.26



4 Which two lines in the square grid below are perpendicular to each

other?
A\ E—
/ L
/ T ]B
/ | /
A
I M

(1) BCandEF
(2) ABandAD
(3) ABandBC

(4) ADandDC



In the figure below, AOD, BOE and COF are straight jineg
ZAOB = 53° and ~COD =87°. Find XEOF '

(1 37
(2) 40°
(3) s0°

(4) 583



6  JKLMis aparallelogram. £KJL =31°and ZJML =62°. Find ZMJL.,

(1 31°
(2) 59°
(3) 8r

4) 93



7 Which of the following is not a net of a cube?

(3)

4)




The table below shows the number of pastries sold by Mina over 3 days.

Day Number of Pastries Sold
Monday X
Tuesday X+6
Wednesday 64

Mina sold a total of 102 pastries on Tuesday and Wednesday. How
many pastries did she sell on Monday?

(1) 32
(2) 38
(3) 44

4) 48



9 The bar graph below shows the number of students who travel to school
using different modes of transport.
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10

11

Which of the following is likely the height of a P8 classroom in Nanyang
Primary School?

M
()
@)
(4)

35m

350 m

35¢cm

350 cm

Arrange the following fractions from the smallest to the largest.

(1)

)

©)

22 8 9 22
77 3 4 5

Smallest Largest
S
SE
AEN
S



At first, Hang Seng and Ishmael were facing the same direction. Hang
Seng tumed 225° anti-clockwise to face North and Ishmael turned 90°
clockwise. Which direction did Ishmael face in the end?

(1) North-East
(2) North-West
(3) South-East

(4) South-West

Find the total length of the crayon and the pencil.

T4

(1) 134cm
(2) 14.4cm
(3) 148cm

(4) 21.2cm

10



14

15

4
In a camp, the number of boys is 5 of the number of girls. The number

2
of childrenis 5 of the number of adults. What is the ratio of the number

of girls to the number of adults in the camp?

() 1:9
2 9:1
@) 2:9
4) 9:2

The first 20 numbers in a pattern are shown below. What is the digit in
the ones place of the 294% number?

11, 13, 16, 18, 19, 20, 21, 23, 26, 28, 29, 30, 31, 33, 36, 38, 39, 40, 41,43 ..

15( 20”‘
1) 1
2 0
(3) 8

@ 9

1
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Questions 16 to 20 carry 1 mark each, Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stafed. (5 marks)

2

3 of her pencils. How many

16  Jing Xuan had 63 pencils. She sold

pencils did she sell?

Ans:

17  Express 9 kg 28 g in kilograms.

Ans: kg




18  The figure below shows 11 squares. Shade the least number of
squares such that line XY is the line of symmetry of the figure.




19  The solid below is made up of 20 unit cubes.

Top View
. ’ . ) [} ) 4 \V » ) . ) s
L3 > ’7 [ a . L4
Front View Side View

Draw the front view of the solid on the grid below.

Front View

L » L a @ -] -]
o 2 ¥ 4 -] ]
2 o & o @ [ -]




20 Below shows the front view, side view and top view of a solid builf using
unit cubes. What is the smallest number of unit cubes that must be
added to the solid to make it a cube?

Front View Side View Top View
® & 8 a ¢ o o e & e o 8 @ o e ¢ o ¢ & o 2
LI 1 ’ ¢ o & e o & * ¢ e @ ¢ o« e @
® B ~» -] 9 ] L3 3 -] -] -3 . - -] -3
A U AR B
® & @ e 6 e s e 8 © @ o ¢ s % @& e ® & @&
& & L] © ° (3 2 -3 ® ® [ 1 ° @ ] ] e ] o © L] a
Ans:




Questions 21 to 30 camy 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (20 marks)

21 Write down all the common multiples of 6 and 8 that are less than 70.

Ans:

22 A notebook costs $2.65 and a pencil costs $0.90.

(@) Find the total cost of one stch notebook and one such pencil.

Ans: (a) §

(b) Mrs Chia bought 200 such notebooks and 200 such pencils. How
much did she pay altogether?

Ans: (b) $




23  Bob parlicipated in a compelition that lasted 4 h 50 min. After the
competition, he waited 35 min for his mother to fetch him. His mother
fetched him at 4.15 p.m.  What time did Bob's competition start?

Ans:

24  Faizal had 50 eggs. He sold all his eggs. What was the percentage
decrease in the number of eggs he had?

Ans: %




25  Sarah uses the same amount of flour to bake each cake. She uses
876 g of flour to bake 6 cakes, How much flour is needed to make 8
such cakes?

Ans: g

4 1
26  Gerald had 5 L of milk at first. He drank 2 £ of milk in the moming and

1
3 £ of milk in the afternoon. How much milk did Gerald have left?

Ans: £




27  Hani had a roll of ribbon which was 4 m in length. She cut the ribbon
9

into smaller pieces, each measuring 0 m. She gave her sister the

greatest number of such smaller pieces she could cut from the roll,

How much ribbon did Hani have left?

Ans: m

28  Kelly has a triangular piece of paper VWX with VW = WX VZX and
WYX are straight lines. £ZWVX =59° and £XZY = 70°. She folded it
along the line YZ as shown below. Find Za

Ans: °




20  The figure below is formed by five straight lines, AC, AD, BD. BE and
CE. ZCAD =21°, ZACE = 36° and ZADB = 40°. Find £y.

Ans:




30 Triangle DEE is a right-angled triangle. The lengths of its sides are
hem (h+7)cmand (h + 8) cm. What is the area of {riangle DEF if

h=57
E
(h+7)cm hem
F
D (h+8)cm
Ans: cm?
End of Paper

10
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Questions 1 to 5 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. (10 marks)

Abby has m cookies. Benson has 5 times as many cookies as Abby.
Charlie has 4 more cookies than Benson. Abby, Benson and Charlie
have 59 cookies altogether. How many cookies does Abby have?

Ans:

1
2 A printing machine prints 240 pages in P h. How many pages does it
printin 3.5 h?

Ans:




3 The average of a set of 7 oumbers is 7. A number is added to the set
and the average becomes 10. What is the number?

Ans:

4 What is the price of the car after adding 9% GST?

$188 000
(Price Before GST)

Ans: §




In the figure below, ABC is an isosceles triangle and AB = BC  ADEF
is a parallelogram. ZCBD = 46° and #DEF =72° BDE is a straight
line. Find ..ABD.

Ans: o




For questions 6 to 17, show your working clearly and write your answers in the
spaces provided. The number of marks available Is shown in brackets [ ] at
the end of each question or part-question. (45 marks)

6 In the square grid below, AB and BC are straight lines.

(a) By joining the dots on the grid with straight lines, draw a trapezium
ABCD such that AD is parallel to BC and AD is twice as long as BC,

[1]

(b) By joining the dots on the grid with straight lines, draw a triangle

ABE. such that AE is perpendicular to BE and AE = BE. Triangle
ABE does not overlap with trapezium ABCD.

(1]

(c) Find the ratio of the area of trapezium ABCD fo the area of triangle
ABE. Express the answer in its simplest form.

Ans: 1]




A baker had some tarts and cookies. He packed the tarts in boxes of 6
and the cookies in boxes of 10. He sold each box of tarts for $28.80
and each box of cookies for $22.20. He sold 4 times as many boxes of
tarts as boxes of cookies. He eamned a total of $2198.40 from the sale
of all the boxes of tarts and boxes of cookies. How many tarts did he
seli?

Ans: (3]




At first, Wei Liang had 360 more stickers than Vikram. Wei Liang gave

1
-g- of his stickers to Sue and Vikram gave 7 of his stickers to Sue. In the
end, Wei Liang had 159 more stickers than Vikram. How many stickers

did Vikram have at first?

Ans: (3]




The table below shows the type of medals to be awarded for a
Mathematics competition.

Type of Medals Gold Silver Bronze
Average of the 85 to 100 70 to 84 50 to 69
best 4 quizzes'

score

Every participant has to take part in a total of 5 quizzes. A medal will be
awarded using the average of the best 4 quizze§)score.

Part of Tim’s score sheet is smudged and the scores for the first 3 quizzes
are shown below.

(@ )

QuizA 78
QuizB 79
Quiz C 95

Given all his scores are whole numbers, what is the lowest possible score
Tim must get in Quiz E to get a Gold medal?

Ans: {3]




10

At 09 00, Peter travelled from City A to City B at a constant speed of
80 km/h. Half an hour later, Timothy travelled from City A to City B at a
constant speed along the same route.  After Timothy travelled 240 km,
he caught up with Peter. Timothy took 5 hours to travel from City A to
City B. Find the distance between City A and City B.

Ans: 13l




11  Tank A and Tank B are cubical tanks. Tank A has a length of 30 cm.

2
Tank A is completely filled with water and Tank B is empty. After 5 of
the water from Tank A is poured into Tank B, the ratio of the height of

waterin Tank Atothatof TankBis 8 : 3.

30 cm

N

Tank B

(a) Find the amount of water poured from Tank A to Tank B.

Ans: (a) 1]

(b) Find the length of Tank B.

Ans: (b) 3]




12 The length of a rectangular tank is 60 cm as shown below. A divider is
put into the rectangular tank to create 2 sections, Section A and Section
B. An equal amount of water is poured into Section A and Section B.
The height of the water in Section A is 10 cm and the height of the water
in Section B is 15 cm.

80 cm

AN

N/

L o

10 ch N

15 ¢cm

A
4

Section A Section B

(a) What is the length of Section A?

Ans: (a) 2]

10



(b) The divider is removed from the rectangular tank. What is the
height of the water in the tank now?

60 cm

W

A

Ans: (b) [2]

11



13 The line graph shows the amount of money that Raj saved each month

from March to June.
450 ’2
400 ——
350 =
4
Amount of 300 o
money 250 7
saved each 7
month 200 7
(%) 150 = of
100 =—f
50
0
March April May June
(@) How much more did he save in May than April?
Ans: (a) {11

(b) What was the percentage increase in his savings from May to
June? “""“

Ans: (b) (1]

1
(c) The amount of money Raj saved in July was 5 of the total

amount of money he saved from March to July. How much
did he save in July?

Ans: (c) [2]

12



14

David and Edmond had some stamps at first. The ratio of the number
1
of stamps David had to that of Edmond was 1 : 4. David gave 3 of his

1
stamps to Edmond. After that, Edmond then gave 5 of his stamps to

David. David had 170 stamps in the end.

(a) How many stamps did David have at first?

Ans: (a) [2]

(b) How many stamps did Edmond have in the end?

Ans: (b) [2]

13



15  In the figure below, BCDE is a rhombus, DEF is a straight line.
AF. BE and CD are parallel to each other. AB = BE, ZBEF = 62° and
ZAED = 143°,

(@) Find £AEB.

Ans: (a) [2]

(b) Find £ABC.

Ans: (b) 2]

14



16

The Tan family finished 5 kg of rice in 5 days.
The graph below shows the amount of rice consumed by the Tan family
from Day 1 to Day 5. The bar that shows the amount of rice consumed

on Day 5 is not drawn.

2.5 j -
4 [ —
] -
2 T =
i | .
Amount of 1 —
rice 1.5 i =
consumed 1 -
|
(ko) 1 =
—
05 - —
“_—-—.
Ca—
0 £

(@)

(c)

Day 1 Day 2 Day3 Day4 Days
No rice was consumed on Day 3. Draw the bar for the amount of
rice consumed by the Tan family on Day 5. [1]

What fraction of the 5 kg of rice was consumed on Day 17

Ans: (b) 1]

200 g of rice filled 1 cup. How many of such cups of rice
were consumed in all by the end of Day 47

Ans: (c) [1]

The average amount of rice consumed from Day 1 to Day 7
was 0.9 kg. Write down 1 possible set of values for the
amount of rice consumed on Day 6 and Day 7.

Ans: (d) , 2]

15



17 The figure below is made up of a square ABCD. a semicircle DOC and 2
overlapping quarter circles DCB and ACD. DE =EC, Fis a point on arc
DOC, OE is a straight line and the length of EF is 50 cm.
(Take nt =3.14)

A B

4

D E C

(a) Find the area of the semicircle DOC.

Ans: (a) [2]

(b) Find the difference between area X and area Y.

Ans: (b) [3]

End of Paper

16






Quastions 1 1o 18 carry 1 mark sach,  Quastiana 31 1 15 carry 2 marks each.
For each question, four cplions ore ghven.  Ona of them 1a tha corract anawar.
Make your choice (1, 2, 3 or 4) and shade your answer on he Optieal Anawer
Sheet, {20 marks}

1 Round 163 408 fo the nearest thousand.

Found duvn
B34y %153 000
(1 150000
@ 183000 v
3) 164 000
) ()
4 160000

¥
2 In 23,176, which digit is in the tentha place?

M 1/
@ 2

3 8 (‘\)

® 7

4 Which two fines in the square grid below are pempendicalar to each

other?
{
A ;
R
/ W
/ /
7 /
D] , I]
™ [
/ T~
N ¢
(1} BCandEF
2)  ABond AD
{3 ABend8C C'f')

(4 ADandDC

3

Tha figure batow shows 8 numbsr fine. Which of tha faliovdng Is clonaut

to the raading of 87
1

; |
fHHIIHH

82 1A b 84
!1)5.?5 -y 0.3
fyep = 02519
@)y 622 0.0
) 623 & iy a??m;m“gk& M\é‘”‘"‘i behuen
@ ez B and 620 deng m shauta ke
* 620 closest 40 625,

(%

§

In the figure balow, ACD, BOE and COF ara straight linos,
£ZAOB = 83" and £COD = 87°, Find LEOF,

]
A
C
53| ne’
) ar
£y
[+
F
E
L = iggt. 63" gt
P Bocs ire™. 53”5
> Ay
@ 40/ LEDY = 280¢ 24 (_wf&u\\\‘sadn ,,,\J)“')
[V
@ s ()




Find LML,

KL = 31* and LIML S 82"

JKLM 38 a paraliologrem. £
fwst D el
& ngmmg fudl ::j\
o aenilel Hans ‘V

Dug 4 e
Al

LATL= o™ 61 -3\
{1 3 "g“t {:1 »
(@) &9

@ 8V
W )

The tabla below shows the rumber of pastries sold by Mina over 3 days,

[ By | Wumbar of Prstiias Soid |
Mooday x
Tueeday X+8
Wednesoay [

Mina 50X 2 total of 102 pestries on Tueeday and Wadnesday.  How

many pesiries did she sell on Monday?

W w2/ bxve) tbnz 100
2 %4 Y0 fol,

@ X 2 10270

3 44 =33

4 48 (V)

Whicho!mfogowmmnota et of a cube?

@

L.

) r—-“

(4)

The bar graph balow shows the Aumbac of students who travel to achiool
using dilferent modes of trangport,

{9
NRT MRT
Sahool 5;”:‘* Pubiic
gus @ Bus
Public Walk
Hus
@ @ 7
Pubticl _
Bus »
Sehool Public Schoot
Bus Bus Bua
Walk Walk

)
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1“4

15

Pettern
CAigh in smey
gloce )

Which of the Tallowin, )
9 I8 like <
Primary Schoolz ely the height of o pg clasroom in Nanyang
(1) 3m
) 35%m
) 35cm = 0%,
@) 350em 236, (D)
Arcange the following fractions from the smaliest ta tha largest,
X L3 v 1Y
2 8 9 2
25, oz, -, a%
7 XN S B
EAYRIN
@2 ' Noorge 2oad
Smallest L ' Da 3 B e mad rog
NEE e fupermiors S sapnt,
@ 23’ 23' 2‘ ] n Gompart, e deraminityrs X
7 5 4 3 L dtnons
¢ .2 8 2 T Rnominte 2 ol i
@) %5 5 %
[ 2 2 ]
[T 1 5 v
2 8 2 8
@ % 3 % 3 (3)
[
4
in g camp, the numbar of boys is s of tha number of gils, Thoe number
ofohi!dfaﬂisg of the numberof adults.  What s the ratio of the number
of giris to the number of adults in tha camp?
B & Chldren Childrea © Adults
N ®M< JLEVINN .
1) 1:8 :( *&:& . 5
bk, Aty
@ 9:1
]2:@;(5‘;} Ug L A5
@ 20/
) 8:2 G hdu
() 10: 4
29
The first 20 numbors in & pattem are shown befow. Whatls the digitin
the ones place of the 264 number?
11, 13, 16, 48, 4B, 20} 23, 23, 26, 28, 20, 30} 31, 33, 38, 38, 30, 40141, 43 ...
1= 20"
V36%9p/t 36 0]t 3680
{1} 1 3
@ o Y atdtrs rtyeats Q.Vu‘ A Aunbees
\ 2L 2 A
(3}
Th i
@ 9 -\k:‘ SInCe eveey avmbe in o position
o s a rathigle NN hes & 'O 5,
ones flaw (K20
N
(v e 2 1R 230 180 40)

farmber musd o hae o0 0 7N
“he ongg g\qu State 2% 4 g m\ﬁ?\nk b,

A

42 At first, Hang Seng and tshmaal wara facing tha sama diractlon.  Hang
Seng turnad 225 anli-clockwisa to f2cs Marh and ishmanat tumad 807
A ich 1 gid | 1al (acs in the end?

(1} MNorh-East
@ NortWast
(3  South-East

(4)  Soulh-West

13 Find the totat length of the crayon and tha pencil.

i
28
S ae § = L
% . S Lt A oom
(1) . 134com Vgrg ot Lem® 5
.~ > \;\‘.Cﬁwﬂ
@ 144em > 0. Aem
(& 148cm J Coaqon = §¥ Db
% 5. 2em
) 21.2om (3)
Peaei\ = 12 fren - Lrey,
31 e

Quastions 16 1o 20 carry 1 mark each. Wrile your answers in the spaces
provided. For quastions which raquire units, give your answers in the unite
stated. (8 marks)

16 Jing Xuan had 83 pencifa, Shasoid%ofhefpemh How many
panciis did shoe sell?

AN 1
%X-% = A
\

Ans} 4‘}“
47  Exprosa 9 kg 28 g in kilograms.
13 b ,}!;kj
28=1000= 0-028
4+ 0.0.% =902 %
g 1028 ¥




18

The figurs below shows 11 squarms. Shada the least numbar of
squaros such that ine XY s the ina of symmatry of the figure.

Batow shows the front view, side view and top view of a sofid buit using
unit cubes.  What is the smallest number of unit cubes that must be

addad fo the sofid 10 make # @ cuba?

Fromt View Side View Top View
PP PPN ss e s b e
. :, :'&’;""‘:' ; .
. B . bed 4+ » ’ e
: D1 05 1 DO ..
. MU e . s e
P P fr e e a s
“ e s P )

3%3%:=9

iow s mada up of 20 Ul uBeS:

‘The sobid bel
* Top View
e
* . . . - . .
IR -, L
‘ »’ . ']
* . » »
) * : * ’ . *
' * * .
* N » * . = . .
* . . *
’ * ) " * . 0 . » 'K-\. . .
Front View Skde View
Dmmmmwofﬁmw&donmoaﬁdbakm
Front View
- . . * * k4 L
. gopome O ¢ F
- * * .
' = — PR
¢ . &
6 e P

Quastions 24 to 30 camy 2 marks sach.  Show your working ciearty and wilte
your answers in the 3paces provided, Forquastions which requics units, give
your answars in the units stated, {20 marks)

21 Witte down ail the common muliples of 8 and 8 that ave Jess than 70,
Minighes ok § 6,\1‘\%,®I '5\3\‘51‘@51‘5{,&5
Mol § 3 &% \@AL‘% \sa'w,

U L

22 Anolebook coute $2.85 and a penci coats 50.90.
{8) Find tha total cost of one such noteboak and one such ponci.

245+ 409014355

s 335

() Mrs Chia bought 200 such notebocks and 200 sush panciia.  How
miuch did she pay ategethen?

$3.5% xaw0: §Ti0

rmys_ 110




Bob parficlpatsd lff & compsiition that lasted 4 h 50 min.  After the
GO)MDMWOH. he waited 35 min for his mother to falch him.  Mis mother
falched Wi at 4.15 pas. What tima dis Bob's compstition start?

23

g- Mhi  Somin 5o
10,500, 180pm 3 J‘g
P‘m
Ao {0.50 aum.

24  Faizel had 50 egpe.  Ho sold sl W8 eggs.  What was the percaniage
decresss in the rumbar of eggs he bud?

5o ”
22 oot s poot
co oo, = iov's

[{ole]
]

Ang

mhadurﬂofmmnxmidtm-tmhw‘ She cut tha ribbon

7

into emaller pisces, each measuring -1% m. She gava her sister tho
gmwtmmdamm«mmmwdwtmmm
How much rishon did Hent have left?
S8 L AR

40‘.‘-‘—“-"« ‘i‘

She hed o8 apmrpoc iy,

. 2

GG N FEm =

1 A 5 Anw: 5 m

z wwmsmmmdmwvwxmmvw=wx VEX end
WYX ore sleaight tines,  LWVX = 59" and £XZY = 70% She folded It

slong the lino YZ as shown below. Find £a.

Loz (B0 -51"- 64"
:78°

LXAN =L =557
PR AR - 5:"

o bake each cake. Sha unes

flour
fiout ia naeded 1o meke &

R of
Serah vugs (e oM BMOUR

® 878 g of fouf 0 beke 8 cakes. How much
guch cakes?

’cnk(*”gqu”:‘ [ ILH)S
§ oty > 141;3&3-,;%33

1 .
Gera!dha(iglo(rrﬂkatﬁm, Hedmn&;tafmﬂmmemmingw
ltofmﬂkmﬁmamom. Howmudﬂmﬂ%tﬁdcsefasdhmm?
.8

A B
S TR

PRl
Ao
LR
VORI, - -,
M"""""”"'M_

0 BE and
Wmtsh«mwmmmmw.m.w.
A = = 36° and LADB = 407 Find Z¥.

GCE. ZCAD® 21" 4AT

-3

Lesigoav -3¢
2123’ gt
A\Vieo-es

Lés o013
57

Le = l§0°-571".40
:%%‘
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3 l'i:::qi; (BEF s & right-angiad Jriang'a. Tha fnontha of e sidot oD
“ib = T) cm and {h + B) om,  What in tha s of teenpie DEF 7

Hnb?
£
AN
penom " rem
o
b
mat)om "
EP oGy
£0:(34 Ve
Dt
" b
\ }{s()lkm % Bem = Wem”
Ans: _”__5_9______’___0‘“’

End of Paper
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£0-44=3\

‘188000
{Price Bolvie GsT)

L .
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o 520820

e

funstionn 1 10 8 carry 2 marks each. Ghow Yout wrking cleatly and wrffg
your arswacs in thy apates provided. For guastions which raauirs units, give
{10 marks)

yout BOSNBOID tha units stated.
MMM

y canking s Abby.

1 Abtry has m cookies. fannon has 3 Yerns 88 AN,
Banson, AbRY. Benson nod Charle

Ciathe ban 4 moro rpekien than
pave 59 seaking slogather, How many coukias doan Abby hava?

(]

: ?M mz 5521
C bk B .5
pt S b (St d)25q

[PEE TR

o 25%-4
> 55
=
F T —

|
2 Apdmmmmmwmzdopaqm sin o 1. How many pages dom A

pintin 3617
A3 wro

- Mo 2soxh
~ (%%
150 [480% 3.5 ? y
25040

3 mmmumw,mcamwwwmaw ADEF
is 3 parligiogran, acaaawwmsrsm BHE is a straight
sna. Find SABD.

LA » g0 -T2

2108 LARD= 180 %")5‘*1&'
L¥hes LADe -n

108’ {vrticnty gpocit v;jad

L Beaz 1g0° a0~ fog”
b
2 LRAL




For questions & 10 17, show your woeki

¥ g ing clearly ang
spRCES provided.  The nurber of Marks avnﬂa{)la in o
tha and of each question of partguastion,

YOUT anewrs in thg
$how in brackets 1 Jat
{45 marks)

B

e,
e
[ In tha square a1id bolow, AB and BC ara stra,

bt Enes.
LI ..
LR . .
A . s
.« . .
LI .
L . s
DRI .
DS “ s
v ow -
. 0 ..
LT P
“« .o v
“ s ..

{8} By inining the dots on the gad with stralght lines, draw a taparium
ABCD such that AD is paratied to BC and AD is twice as fong as BC,

m
(b} By joining the dots on the gAd with stralght fines, draw a Triangls

ABE such thal AE is perpendiculat o BE and AE = BE, Triangls
ABE doos not avariap with trapszium ASCO,

&
(e} Find the ratio of the ares of lrapezium ABCD 1o the area of triangls
ABE.  Express the enswer in ils shnplast form, ArrE
ABE>545  ABD-» 114 Ans: m).\:\Q o 010
=10 EA

8 At first, Wel Liang had 360 more stickers than Vikrem, Wei Liang gave
%ofhisdid&erstueWVW‘amgam %ormmmtos«. intha
end, Wei Liang had 159 more stickens than Vikrar.  How many stickets

dikt Vikram have at first?

A4 {it‘sﬁ AR
———— L M
S AT
W4 117117 )

B womy 0‘:&1)
34658245
‘6‘5)(%1155
o- 135=321
[n the M

T G 225 >
AEEANENN)

, m 59
buoinatst 250 035
{uunie 2 225 . 15¢
46(,
€ wirs = b % 8
=51%

ookl ked the tars in boxes uf §
had some tarts and log. Ha pach

:n:a:: cookins in boxas of 10, He soid each box of tarts for $28 80
angd ea;);box of cookies for $22.20.  Ha sold 4 timas as many boxes of
tartn a8 hoxes of conkies.  He eamed atalal of $2198.40 from the sale
of af the boxes of tards and boxes of cookles. How many lans did he

2ed?

4 boves o] tarse = 2800 wip
z $IG 20

Lot (B bmes d ang + Thed wokies Y- 00520 $2120
* $137.40

Mowaber o} sees 1old = EB% 40 13T 4
RS

Bunes d s sold = 16 XA
= gq—

Torts sold = GAYE
T A8%

Ans:

9 The table below shows the lyps of medals © be awanded for a

Mathematics competition,
| Typa of Medals Gokt Siver Bronze
Averaga of the 85t 100 70w 84 50069
bagt 4 quizzes”
score

Every participant has fo take part in a lotal of 5 quizzes. A modal will be
awarded using the average of tha bast 4 quizzes’ score.

Padof?m'smmtkwmhmmmhwam
are shown below.

QuizA 78
QuizB 73
Quiz € 95

Given ali hia c0cas are whole numbers, what is the lowast passinia scors
Tim st gal in Quiz € o get a Gold medal?

Assune T ) T4 B Quiz D

Toral Stort o Gd wedd 2 KSR
»340

3""0‘7’\3(5 1=




iad from City A to Clly 8 ot » constant spead of
Timothy traveliad from CityAlo Cily Bata
constant spaad along tha same route, Aftet Tinothy travalind 240 km,
he caught up with Pater. “Timothy took § hours le travel fom Gty A to
City B, Fing tha dislance batwean Clly A and Clly 8,

10 At 08 00, Pater trave!
60 kmh,  Hall an hour later,

it takan for
Petee a0 towt) = JAok i Bokm i
280
ko = 34

Gt en b

*’f;..,‘g»\\-.‘ 4y Catth

e Uped
W feree 3 h

s 3L
Fronstty r3h
Fron's feed = )"%;"“;72‘\5_\
= Wkml\

%km\k X 5k = 480km

Agotm

L Sk

12 The iengih of o rectanguiar tank is 60 om a8 shown below, &
; . Adivideris
put into the rectangular tank to creale 2 sections. Seclion A and Section
g&%ﬂﬁwmdmiwhmmmmswbnAamSecﬂvna
1 waterin Seclion A is 10 cm and ¢
g o i v the helght of the water

10om

3
Saction A Section B

{8} What is the langth of Bection A7
St A and B booh bt At same readsh {b)
Let Sievun A'y banth e L o Stamn Rl leayth be A
AX L% 1o kM xis

fof = 15 M
L=8m Li‘g':m‘”“
=15 Mm
ISmam= o,
25M= 4o,
Me Lpms 25 A () 2 -

o TI

Ke. ranxAhasmnqmofﬁom

2 ot
nk 8 1 emply. After 3
e ratio of tha haight of

ik A snd Taok B are cubical tanl
Tank Als complatoly fited with water 300 Ta

the water from Tank A lu poured into Tank B.

11 Ta

water In Tank Ato that ot TankB1a8:3

I em™ A

Tank A \

Y
Tank B

{g) Findthe amanrdt of water pourad from Tank Ao Tank B,

2 {

5 X 3sx 30 %30 = (D8O
\

_f‘,’..g.@.c_':im;

Ang: (@)
) Find the longth of Tank B.
Hep of A Bage are .
< - 2 - 3l
na s = (1FE)X300n PR
= Ve
’“cm “’0 b
Hetgws o & e JI0D em = 40
A he and =¥ %3
6‘”}5{"“ Ana ) L}'Ocm m
s
(5} Tho dhvideris 4 from the sor tork, What fa the

height of tha watar in the tank now?

80 cm

J?

Ll‘\"‘“l. bff—‘\&‘\\ ({'{\q_ 4k = b e

Vidung
éwer .;;(b X4 % ’SXZ +{ b X3Hxb) c»? =@QD\»“ 33.%)““3

=10k
Hci‘s\v‘ -y Wolune & viser
Lotttk X & e
- 1}% (.Ms
TR
2t
Ans: (b} IZCM @

"

A}




13 the line graph shows the &
fronx March to June,

mount of money that Raj saved sach month

450 —

400

350

Amountot 00
mongy 2

saved each 50

month 200

5} 150

o . -
March Aprd May duna
{a} How much more did ha save in May than Aprii?
$350 - 70+ ot
now o _$200 gy
[ m?m the percentsge kcrase In his savings fom May to
of . . .
Intreage = § 430 - $380 b s = 350 weths b
30
A (b} 7‘“1‘. e T}

[ mmm&fmoaeyaajsavedhmwes%of&whla!

amount of money he saved from March o July. How much
did he save in July?

Iy Ly A vy :$;)€b; $Tor4350x¢,
* %1000
Maret e USRS SIS Tunie 24100654
34-4‘-“ -;“;50 ’
ws @ 20 g

15 in the Rgure beow, BCDE is ¢ rhombus.  DEF is a staight e,

AF, BE ang CO are paralis! (6 each othor,  AB = BE, £BEF = 62° and
LAED = 1434

{8) Find (AEB,
Leedz iy’ 6y
>lig’
LAER = 43t yyg”
> 38

Anar (=) 2‘5 !

(B) Find £ABC,
[8he: Lacn - 28 .
LABE 2 (55257 10 Lages 3600430"' N
% 130° *lue
LLRE 180 1 g°
=67

me o 168"

12 David and Bdrmand had soma stamps gt fiat. The tatio of the number
M
: = ofhls
of stamps David hed 1o that of Edmond wag 1 : &, David gave 3
%
= of his slamps 10
slamps ta Edmond. ARer that, Edmond than gave 5 of

David.  David had 170 stamps intha end,

(8) How meny semps did David hava st first?

0 &

At fiesx s
D:E Edmend govt A & W Py 4
. David, o
! lk A .. oy Bdmand (on-bansd)
Y Lﬂ}w;«é,ﬁws

. 05 i » Tter s B S witg 7 Do (n e k)
David geet A o his Stanys @ Edrrndh

can Funias s 2
x3rl 85wty = \"Q' . ; 6;*3
N | it PN EY:)
D= % ~A= S
3 «3‘?;\'[ =13 Ans: {a} 60 {21

{b) How many staopa dig Edmond have in the end?

L5 wids = 2O%L5
=139

a9 20 @

46 The Yan family foished & kg of rico in § days,
“Tha graph below shows the amount of rice consumed by the Tan family
stom Day 110 Day 5. Tha bar that shows tha amount of rice consumed

on Day § is not drawn,
28 3 o
ol
2 =
=
=
Armountof —
e 16 =
consumad v =
gy 1 =
08 oy e
s
0 =

Deyt Day2 Day3d Oayd Quy$

(2} No rdea was consumed on Day 3. Draw tha ber for the amount of
ioe consumed by the Tan femiy on Day 8,

Ul
Sky- 2.3%- kg - 0-%ky 0.8y

(b} What trection of the § kg of rice was congumed oa Day 1%
31 2
5 "% Asw @) L. 30 W

(o) 200 g of rlco BHad 1 cup. Mow many of such cups of o
were coneumed i af by the end of Day 4%

Wyt %y 41&3-':0.1\;3 =24
23k et ihean by, o 4,
ka, 3‘“’ i lkj Ans: () ?" ]

{4} The aversge emount of dee consumed from Day 4 1o Day 7
was 0.8 kg, Write down 1 possitia sl of values & e
amount of tice consumed on Day 6 and Dey 7. s

3 !

) . . L e
Tz M X1 N‘*ma::%;s S pTEY
43, D e 034, Ak

1




17 Tha figura bolow Is made up of o square ABGD, a semicircle 0OC and 2
avarlapplog quarter cicies DCB and ACD.  OF = EC, Fia a point on arc
DOG, OF ia & staipht fina and tha lengih of EF is 80 cm,
{Taks o =3.14)

A

i) E S0um C
{8} Fing the sten of the samicicle DOC.

' 5 -
R R TV RSy T >
. }\:5 A Yo X GO A () )5

{b) Find the difference betwesn area X end ares Y,

M‘ '4 \wiw . l 5&
Gunde thney TR0 Yo Xz 396 M 50,0
50> T
Arasd Acn -
Berw A Semiciodg (mi'.): ?'{500—-‘- 280

* 3250
Rrea 4 ‘%»m-:" U8y s o g 10 Yem 1O
* D50, A ()
End of Paper
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